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3 Additionswerte (2-stellig)

Name:

L 0se jede Aufgabe.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

88+14+11=

68 + 34 + 89 =

13+37+50=

81+34+15=

25+82+74=

44+ 99 + 13 =

20+ 70+96=

34+98+38=

11+53+50=

80+53+80=

14+ 75+47=

15+51+39=

65+ 56 + 49 =

79+55+45=

Antworten

10.

11

12.

13.

14.
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ﬂh 3 Additionswerte (2-stellig) Name: L Osungsschlissel

L 6se jede Aufgabe. Antworten
1) 88+14+11= 113 13
1.
2) 68+34+89= 191 2 191
3 100
3) 13+37+50= 100 20
4, 1
4) 81+34+15= 130 5, 181
6. 156
5) 25+82+74= 181
7 186
6) 44+99+13= 156 . 170
114
7) 20+70+96= 186 %
10. 213
8 34+98+38= 170 3 136
9 11+53+50= 114 12. 105
13. 170
10) 80+53+80= 213 .
14.
11) 14+ 75+47= 136
12) 15+51+39= 105
13) 65+56+49= 170
14) 79+55+45= 179
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3 Additionswerte (2-stellig)

Name:

L 0se jede Aufgabe.

Antworten

{

181
191

100 156
170 130

186
114

213
113 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

88+14+11=

68 +34 + 89 =

13+37+50=

81+34+15=

25+82+74=

44 +99 + 13 =

20+ 70+ 96 =

34+98+38=

11+53+50=

80+53+80=

10.

Geandert
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